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INSTRUCTIONS FOR CANDIDATE

1. This Question-Booklet contains 100 Questions on the following -

Section Bubject Q. No. Total Ques.

Part-] Hactrical Engineering 1-60 60

Part-11 (General Awarenses, Reasoning and English 61-100 40
Total Questions . 100

o

There ars 16 pages in this Booklet out of which Page No. 1 is for instructions to the candidates. Page Mos. 15
and 16 are meant for Rough Work and page nos. from 2 to 14 contain question of all parts. After opening of
the Booklat and before you start answering the questions you must check up this booklet and ensure that it
contains all the pages (1-16) and see that no page is missing or repeated. If you find any defect in this

booklet, you must get it replaced immediately from the Invigilator within first 10 minutes of start of the

Examination.

You must weite you Rel! Number in the space providad en the top lefthad side of Pege Me. 1 of this Question-
Booklet,

You will be suppiied & one-page OME Answer-Sheet separately by the Invigilator. You must complete all the
details at appropriate places in the OMR Answer-sheet carefully, before you actually start answermg the
guestions.

The instructions as given cn the OME Answer-sheat, must be read carefully by the candidate and acticn in
filling up the desired information in the columns writing a statement and marking the answer to the
guesidons by Penun Side [ and Side -11 of the OMR Answer-Sheet should be taken acmrt_:lingly.

. All questions ave compulsory. Each question carries one mark. There is negative marking 1/4® mark will be

deducted for sach wrong answer.

. You are required to mark you answers only on the OMR Answer Sheet which has been provided to you

separately with BLACK BALL POINT PEN ONLY.

Use of Books, Motes and copying and receiving/giving assistance is not allowed. Further, use of caleulator:
separate or with wamwch, Tablets any type of mobile phonss, Books, slide rules, foot rules, note books or
writtsn notes is alze prohibited during the examination. Any candidate who is found either copying or
recelving., giving assistance or using unfair mesns wil! be disqualified and hisher candidature will
accordingly be cancelled.

The guestion bockl=t and OME Answer Sheet supplied to the candidate must be returned intact to the room
invigilater on completion of axamination befora you leave sxamination hall. Any candidate toving to tamper,
take thera wway or foena in unauthorized possession of boeoklet or OMR Answer ghest, 1o liable for
cancellation of candidature or any legal action against him/her.

91

—

www.gkpaper.com www.Indiagk.net



R e i o Wl i,

Q3)

Q4)

Q5)
a)

Qe)

Q7

a)

Qs

Electrical Engineering

Transduceris a device thatconverts -~
actode b) dectoac
one form of energy into another form of energy d) allofthese

A shunt is required to extend the range of 1 mAto 10 mA, while meteg
resistanceis 36 ohms. The value of shunt willbe: -

10 b) 20 - ¢ 3Q d 4Q

The burden across the secondary of an instrument transformer 1s
specifiedas - S

V,/V, b) V,/I, e) VI d L/,

A multimeter has full scale deflection current 5 mA, then its
sensitivityis: - _
100Q b 200Q c) 3000 d) 4000

Magneto Motive Force (MMF) isequal to -
B.1 b) H.T c) N.I d) |

The materials cause low power loss in magnetization and are suitable
as core of electrical machines should have : -

High retentivity b)  High coercive force

Steeprise of B-H curve d)  Small area of hysteresis loop

A cast iron ring would with 500 turns coil and M.M.F is 7500 AT, then
value of exciting current to produce required flux will be : -

5A b 10A c) 16A d) 20A

Silicon controlied rectifier has - -

Three terminals b)  Twoterminals

Four terminals d)  Oneterminal

UJTis generally used for: - 3
Triggering of SCR b) © Controlling the power
Controlling of a TRIAC d)  Noneofthese
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Q10)

b)
c)

Q11)
a)

b)
)
d)

Q12)

a)
©

Q13)
a)
e)

Q14)
a)

c)

Q15)
a)

5
s

Q18)
a)
b)
c)
d}

Forcontrolling the speed of 3® induction motor, which of the following
schemeis used :-

Fixed voltage and fixed frequency scheme

Fixed voltage and variable frequency scheme

Variable voltage and variable frequency scheme

Variable voltage and variable frequency scheme

Commutator of electrical machines is made upof:-
Copper segments

Iron laminations

Iron lamination and copper segments

None of these

The relationship between back e.m.f and applied voltage in case of a
d.c. motorisas:-

E=V+LR, b E=V-LR,

E,=V d  Noneofthese
Electrical transformer can work on : -

d.c. supply b)  a.c.supply

d.c.and a.c. both d)  noneofthese
Buchholz relayisusedon: -

0Oil cooled transformer b)  Aircooled transformer
Welding transformer d)  Furnace transformer

The colour of dry silica gelis:-
blue b)  palepink
pale yeilow d)  palegreen

Funetion of the breatherin a transformeris: -
To suppress harmonics

To provide protection against aver enrrents
To arrest flow of moisture into tank

Tocontrol the level of oil in the tank

— TN
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series b) parallel
¢)  either seriesor parallel - d)  noneofthese
20) Acircuitbreakerisa:-
protective device b)  controlling device
¢)  circuitinterrupting device d)  allofthese
32 1) Back up protection is generally empleyed for protection against : -
' Open circuit faults b)  Earthfault
¢)  Shorteircuit fault d)  Allofthese
22) Inductionrelays areused with : -
d.c. quantities b)  a.c.quantities
¢}  deanda.c.both d)  noneofthese

@17) The maximum value of power factoris: -
a 1 bl 10 ¢l 100 d) 1000

%1 8) KVAR poweris equalto: - _

a KVA cos® ; b}  KVAsin®

o0  KWcosd d KWsin®

Q19 For improving earthing resistance, if an additional earthing aLi's
required, sothat, it should be connected with existing earthing in: -

Q23) 220V, 100 W and 220V, 40 W hulbs are connected in series across 220V
d.c. supply, which bulb will burn with brighter light : -

aj 100W b) 40W

¢} Both will have same brightness d)  Both will not burn

Remains constant irrespective ofchange ininput a.c. supply
Changes for change of output load current

o Change for change of input power supply

d)  Noneofthese

{%24} The output of a regulated power supply : -
a)
b)

Q25) Acommonly used poly phase system in Indiaje:-
a' Threephase b) Twophase
c) Single phase d)  Sixphase
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Q26) Whick Jagic function has the outputlow only when inputs are high':

al  AND b) OR ¢ NAND d)  Noneofthese

Q27) Half adder has:-

a)  Twoinputs and oneoutput

b)  Twoinputs and two outputs
¢} Threeinputsand two outputs
d  Threeinputsand oneoutput

Q28) Forchecking ofinsulation resis tance, we needa: -
a)  6Amulti meter b) 12 V multi meter
¢} 500V megger dl  Anyofthese

Q29) The electromotive forceis: -
Atorque produced by a rotor
b)  Aforceexperienced by an electrom agnet
¢} Theforce between two current carrying conductors
d)  The voliage produced by a voltage source

Q30) The efficiency of a transmission line is : -
a)  Indepeandentofload

b Increacewith decreaseinload p.t.

¢)  Increasewith theincrease in load pf.

d)  Decrease with theincrease in load p.f.

Q31) Voltageisaformaf:-
a)  Potential energy ’ b)  Kineticenergy
c)  Staticenergy d)  Noneofthe above

Q32) When two batteries of unequal voltages are connected in parallel, the

emfof the combination wili be equalto: -
al  emfofthcsmall battery

") emfofthe large battery

c)  averageemfofthetwo batteries
4l additicn of the emfz of the two batteries

.
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Q33)

a)
Qad)
a)

Q35)

a)
Q36)
a)
Q37)
a)
Q38)
a)

339}

b)
c)
d

Q40)

a)
c)

Lamps of 40 W, 100 W and 200 W ratings are connected in different
pnases of a 3 phase, 4 wire supply. If the neutral wire breaks, then the
lamp likely to fuse first willbe: -

200 W b) 40W c) 100 W d)  alllamps

At the condition of maximum power transfer the efficicucy of the cirguit
becomes: - L
25% b)  50% o 7% - d 100%

Eight cells are connected in series to an external resistance of 4 ohm
but one of cells is connected in opposition. If the emf and internal
resistance of each cell are 2 volts and 2 ohms respectively, the current
in the resistor of 4 chm will be : -

0.6 bl  0.75 e 1.0 d 20

An electric heater of 200 V, 1000 W rating uses a nichrome wire of
resistance of 0.5/ m. The required length of wire will be : -
400 m b)  50m ) 80m d  200m

A delta connection of 1 ohm in each branch is converted into star
connection. This star connection will have value in each branch : -
1/3chm b) 2/3chm ¢ 1 ohm d  3ohm

If a power of 30 MW is to be transmitted over a distance of 160 km the

desirable transmission voltage will be : -
33kV b)  66kV c)  110kV d  220kV

Abus-barisratedby: -

curreatonly

voltage only

current, voltage and frequency

current, voltage, frequency and short cireuit current

In a transformer operating at constant voltage, if the input frequency
increases, the coreloss : - s
increases h) decreases g
remains constant d)  increasesassquareofthe {requency
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Q41) The nuclear power plants have : -
a) high initial cost hi high maintenance cost
c) low operation cost di all of the above

consume lagging VARs b) deliverlagging VARs

342} Shunt Capacitors in a sub-station : -
c) consume active power d} deliver active power

b

Q43) The total impedance of the earth continuity conductor (ECC) should
be:- .
) Oohm b)  lohm c) 10 ohm dl  =ohm

a
44) Hydro-generators are generally employedtorunat:-
a 500rpm b)  1000rpm «¢) 1500rpm  di  3000rpm

leading power factor only

lagging power factor only
c) leading as well as lagging power factor
d)  unity power factor only

345]" Induction generators deliver powerat : -
b)

46) AnSCRis:-
three layer three terminal device
b)  threelaverfourterminal device
c) four layer three terminal device
d)  fourlayerfour terminal device

inverse time current characteristic
linear time current characteristic
c) square law time current characteristic
d) none of the ahove

Ggrl?} Rewireable fuse has: -
a
b)

Q48) For the protection of a very long extra high voltage line, the protective
relavusedis:-

a) over current with extremely inverse characteristics

“31 b percentage differential relay

c) reactance type distance relay

d)  mhotypedistance relay

i Pagmot g
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Q57
a)
b)
0
d)

Q‘58}
J
359}
c)

Q60)

a)
b)
c)
d

Buchholz relayis placed i

in between the conservator and the breather
in between the tank and the conservator

in between the h.v. winding and the bushing
in between the |.v. winding and the bushing

Earth wires are made of : -

copper - b)  aluminium

iron d)  galvanized stranded steel
In a cable faults occurring are : -

opencircuitfault — b)  shorteircuit fault

earth fault d)  allofabove

Public Sector Undertaking associated with erection and
commissioning of thermal power plantsin Indiais -

Bharat Coking Coal Ltd. .

National Thermal Power Corporation Ltd.

Indian Electricity Authority

Department of Science and Technology

E 8] D
The Char Minarisin:-
Ahmedabad b)  ratehpur Sikri
Ahmedanagar d)  Hyderabad

Who was the first woman to become the Prime Minister of a country in
the worla - -

Benazir Bhuto b)  Indira Gandh

Margaret Thatcher d)  Simmave Bandaranaike

Which of the following is not observedin Indiaasa National Holiday?
26" January b)  15"August

5" September d 2" O0ctober

The most ancient musical instrument among the followingis: -
Sarod h)  Tabla ¢)  Veens d)  Sitar
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Q65) Which ot the following is not a classical dance?
a) Kathak b) Kuchipudi ¢}  Garbha d) Odissi

Q66) The world famous Khajuraho Sculptures are locatedin : -
a)  Gujarat b)  Maharashtra 3
¢)  Madhya Pradesh d)  Orissa

=

Q67) Whereis the National Defence Academy situated?
a)  Wellington ' b) New Delhi
¢)  Dehradun : d)  Kharagwasla

Q68) The state with smallest populationin Indiais:- -
a)  Sikkim b)  Goa ¢) Mizoram d) Meghalaya

Q6E9) The birthday of which of the following leaders is observed as Children's

Day?
a)  Mrs. Indira Gandhi . b} Msahatma Gandhi
¢)  Atal Bihari Bajpai d)  JawaharLal Nehru

Q70) 181standsfor:-

a)  International Standards Institute
b) Indian Statistical Institute

c) Indian Standards Institution

d)  Indian Services Institute

Q71) Inthe number series given below one number is missing. Find out the
missing number from amengst the choices o
28,236,800, .00

al 120 b) 160 o 222 4 242
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Q72) Car:Petrol:: Television:?
a)  Electricity b)  Transmission
¢)  Entertainment d  Antenna

Q73) In the following questions, out of four given words three are alike in
some respect. Which one is different: -

a)  Circle b)  Ellipse ¢)  Sphere d  Cube

Q74) Fuﬁr groups-of letters are given. Three of those have some similarity.
Find the odd one out : -

a) of b) ps e wy d LO

Q75) Pisthe brother of @ and R. SisR's mother. T is P's father. Which of
the following statement cannot be definitely true?

a) QisT'sSon b)  TisQ's Father

¢)  SisP'sMother d) PisS'sSon

Q76) Find from the alternatives the missing number which can complete the
Series: -
5,11,28,47,....

a) 63 b} 70 ¢ 95 d 98

Q77) If CAT is written as B Z S, how can AUNT be written using the same
code?
a) ZIMB b} ZTMS c) BVOU d AVOU

Q78) Choosethe odd manout:- .
a)  Meter b)  Yard ¢)  Mile d)  Acre

Q79) In the following question, insert the group of letters from amongst the
alternacives in the blank space, such that it completes the first and

begins the second : -
TOR(____JAIR
a) CX b) CH c) ESS & I
Q80; Rootistoplantas........... 1s to human being : -
a) Pone b} Blood c) Heart 4y Dancreas

www.gkpaper.com www.Indiagk.net




gl . vy | A,

B PPJEEL S1v B
ENGLISH

Direction (g 81 - 85) : Read the passage given below and answer each question
that follows by choosing the correct alternative.

If you eat good food and have a clean body vou will be healthy. You should eat
vegetables, fruits and drink milk. You should sleep for eight hours evervday.
You should also wear clean clothes. Lalitis a good boy. He wakes up early and
takes a bath. He has egg, milk and fruit for breakfast. He always wears clean
clothes. Lalitisveryhealthy. :

Q81) What should you do to be healthy ?
a)  eatonly vegetables b)  eatgood food and have a clean body

¢)  drinkonly milk d)  eatonly fruits

Q82) How long should you sleep everyday ?

a)  foreight hours b)  forsixhours

¢)  forseven hours d)  forten hours
Q83) When does Lalit wake up ?

a) late b aftersixhours

¢ early d)  aftereight hours
Q84) Why is Lalit a good boy ?

a) Hetakesabath b)  Heeatgood food
¢}  Hewears clean cloths d)  Allofthe above

Q85) Which word in the passage is the adiectival form of 'health'?
a) clean - b} healthy c)  wear d  early

Direction (Q86 - 90) : Fill in the blanks with appropriate articles /determiners/
prepositions from the options given below
-

Q86) Urranglives ............. Delhi.

a) at b}  for o) in db gith




Q87 Heflies............. aeroplane.
a) an b a ¢} the d one
Q88) Sheisgoing............. a park.

; ~ | a at b} on e) o to d in
Q89) Foroneweekhestayedas............. guest.
a) we b) us ¢  our d)  ours
Q90) Tmet.,.......c... . soldier yesterday.
a) the b a ¢) one d an

-

31

Direction (Q 91 — 95) : Choose the words opposite in meaning to the ones
givenin capitals. '

Q91) CRUEL

a) Kind b)  Unkind e} Soft d)  Comic
Q92) GROWTH

a)  Dislike b)  Decline ¢} Sorrow d>  Poor

@93) FAIR

a) Foul b)  Cheap c! Humble &  Weak
,.-| Qew DISTANT

a) Long b}  Constant ¢) Humble di Near
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Q95) WICKED
a) Bad b)

Directions (Q96 — 100) : Choose the words similar in meaning to the

ones in capitals.
Q96) HUMANE
a)  vivid
c¢)  kind
Q97) LOYAL
a)  truthful
¢)  similar
Q98) MASSIVE
a)  Huge
¢/  Many
Q99) MISERY
a) Loss
c) Fraud

@100} MALADY

a)  Music
¢)  Beauty

Mild c) Good

b)
d

b)
d)

b)
d}

b)
d)

b)
d)

d

huge
true

faithful

vivid

Strong
Small

Falsehood

Sorrow

Nlness

Liberty

True

-
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